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For ¥''1 broke the strength of his fist

Overview

The %713 asked that since 11"1 1s following the view of ¥"9, then why does he
not mention two types of MW, which are MW 187 7w where he pays a 1'f,
and 27X PIXT MW who pays a w"1 even if he 1s a an, according to ¥"7. The
X mx answered that 7°113% ¥"9 73°92n since he maintains that a o782 20w an
pays only 191. It is not clear how this resolves the initial question, which is
that a 0782 2nw on pays a w"1 as opposed to a w2 2anw on who pays only a
1"1. moon will mention two explanations and reject them, and subsequently
offer his explanation.

— 199 DYVNY MNP 12 NNT WY PN
We cannot explain that the meaning of "7rmn% y"™ °7an' is that p'=
recanted his original view that a 0782 22w on pays a oW prl; since ¥
taught in a Xn>>92 that a 0782 20w on pays only 1232, therefore since he

maintains that he pays 1913, that means that the 0782 2nw on pays only a 'o13 >xm;? this s,

however, not so -
- TN VIVYND IMIN NDYPY 229 N¥TNI 30 (x5 47 1aph) NN P97

For in mini pap it is clearly stated in a Xn»932 that ¥''9 says; the P09
states concerning a QX7 NX 1AW an that you should deal with this case

a7 wown (like this rule), this refers -
— 19545 X9 NN

To the rule in the latter 2105 (of a 7¥% who pays a o>w p11) and not like
the rule in the former o» 05 (of a an who pays a 1"n).? Nevertheless, ¥"1 continues -

— 993 15N 13 DY 919’
I might assume that a 0782 2nw on should pay 7% 3% (just as a 7¥n
does), etc., therefore the P105 concludes 12 AWy that even this an pays only 2w, It is
evident from that X723 that even after ¥"3 concedes that a D782 %anw on pays DM, he
nevertheless maintains that it pays a 27w pr. The question remains why does not the
Xn*"2 include =W °1M3 0, which are MW PIRT W and 2TX PIRT MW since their
respective laws are different in regards to 1"n and w"1.

mooIn cites s"”"w7 explanation and rejects it:
- ‘wyar YD ) DIVIPN YWINAM

" There is no (other) case where the p*m pays 191» and pays a 02w P (except according to "3 by 1%m2 1P
PTIA. See 2,7 Xmd).

*If we were to assume that 12 7117 ¥, then there would be no question of two types of ", for ¥" agrees
that even a o782 2anw an pays only a 1"m.

? The 109 of (x2,20 [o*vown] mnw) ara vownd which discusses the case of a o7& MW W is immediately
preceded by the laws concerning a (?-v3) 7377 W and that is preceded by the laws concerning a (172) an.

* The 0"~ inserts the following citation from *"wA: 121 3"UXT W MWW 12 KoK D2 T 07wn K97 MaNWRY
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And it is difficult even according to the interpretation of >'"'@w9 who says
that since the MW pays only 1917 it can happen that he will not pay a 2w P11 (therefore
the 07X P 187 MW would be similar to the MW P IRT MW).

moon however rejects this approach for -
— PN ST MY PR NVYNY 1D ODY P NI 1PItT 21 Yy 9N

Even though occasionally there will not be a w"z; if for instance the =

P°1a17 is not worth as much as he damaged -
— BYY P XN DNYITT 113 MY 2N 290 2N°Y DIpPNI Yan

Nevertheless 11" should list two types of =, since occasionally there is
sufficient value in the P17 W to pay a w''a!

ND0IN answers:
— AN 22) 23NNIT TYAN N 191 RIN DOWN PNRT 11997 919 v

And one can say; that since the 07X P IX7 70 pays only ww», it is

impossible to list him among the n1ax -
12059 ©YYWY )1 MANI 912 11999 1999INT

For the X713 states later concerning the 1°p°11 M2aX of 1"7 that they are all
considered as nmaN in regards that they are required to pay damages from

the choicest of their fields. However by 0782 22w an 2w since he pays 11 there is
no obligation of 2v°». Therefore it cannot be listed among the P11 M2aX of 1".

Summary
QX P°IX7 an cannot be included in the 11"77 MY, for since it pays 1917 it is

not similar to the other maX who are required to pay 20 nn.

Thinking it over
Why is paying 1912 not consistent with 2v1? If the P12 wants to pay with
vp1p he should be required to pay from av°n!’

> See the (MW 1MW) X35 mwn and the ensuing X3 there. See n"mi.
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